Name __________________________________________

Date____________

Distributive Property
Fill in the blanks.  Use the distributive property to write an equivalent expression:


-3 · (4 + 12) = -3 · 4 + -3  · _____

12  · _____ – 12 ·  5 = 12 (19 – 5)
3 · (8 – 13) = 3 · 8 _____ 3 · 13
(16 + 33) x 5 = 16 x ____ + 33 x _____

***challenge*** 11 (13 + 14 – 15) = ___ · 13 + _____ · 14 –  _____ · 15

-7 ( _____ + 5) = -7 · 99 + -7 · 5

12 x 31 + -13 x 31 = (12 + ___) x 31  

Use the Distributive Property to expand the following expressions:

(5 + 3) x 4 = _____________________________________________________________
8 (4 – 2) = _______________________________________________________________
10 (5 + 2 + 9) = __________________________________________________________

***challenge*** (5 – 1) · (-2) = _____________________________________________
Examples: 	5 · (14 + 3) = 5 · 14 + 5 · 3		(6 – 4) 9 = 9 · 6 – 9 · 4





Example: 6(9 – 3) = 6 · 9 – 6 · 3 = 54 -18 = 36











